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Very Short Answer Type Questions

1. A person travels from a place firstly 24m

west and then 10 m north. Then the distance

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qwyhz8KZWE1R


of the person from the starting point will be

A. 34 m

B. 17m

C. 26m

D. 25m

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_qwyhz8KZWE1R


2. If  be an equilateral triangle and 

, then  =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ΔABC

AD ⊥ BC AD2

DC 23

2

2DC 2

3DC 2

4DC 2

https://dl.doubtnut.com/l/_5hRkqAvMX7Ao
https://dl.doubtnut.com/l/_WDb2ybXNrZA3


3. ABC is an isosceles triangle of which

 and . Then value of 

 will be -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

AC = BC AB2 = 2AC 2

∠C

30∘

90∘

45∘

60∘

https://dl.doubtnut.com/l/_WDb2ybXNrZA3
https://dl.doubtnut.com/l/_1rrBYINlGpuV


4. Two rods of 13m length and 7m length are

situated perpendicularly on the ground and

the distance between their foots is 8m.The

distance between their top parts is

A. 9m

B. 10 m

C. 11 m

D. 12 m

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_1rrBYINlGpuV


5. The lengths of two diagonals of a rhombus

are 24cm and 10 cm respectively .Then the

perimeter of the rhombus s

A. 13 cm

B. 26 cm

C. 52 cm

D. 25 cm

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_1rrBYINlGpuV
https://dl.doubtnut.com/l/_lZfcLu2QpiuQ


Example 2

1. If the ratio of the lengths of three sides of a

triangle is ,then the triangle will always

be a right-angled triangle.

Watch Video Solution

3: 4: 5

2. State True or False- If in a circle of radius

10cm length, a chord subtends right-angle at

https://dl.doubtnut.com/l/_lZfcLu2QpiuQ
https://dl.doubtnut.com/l/_2SHRDagqVp98
https://dl.doubtnut.com/l/_0xGT5QpSWgu8


Fill In The Blanks

the centre , then the length of the chord will

be 5 cm.

Watch Video Solution

1. In a right-angled triangle, the area of a

square drawn on the hypotenuse is equal to

the  of the areas of the squares

drawn on other two sides.

Watch Video Solution

…...............

https://dl.doubtnut.com/l/_0xGT5QpSWgu8
https://dl.doubtnut.com/l/_1XwrDPNXRow1


2. In an isosceles right-angled triangle if the

length of each of two equal sidesin  , then

the length of the hypotenuse will be

 cm.

Watch Video Solution

4√2

…............

3. In a rectangle figure ABCD, the two

diagonals AC and BD intersect each other at

the point O, ifAB = 12 cm,AO = 6.5 cm, then the

length of BC is  cm.…...........

https://dl.doubtnut.com/l/_1XwrDPNXRow1
https://dl.doubtnut.com/l/_1A7DzXKTmKVD
https://dl.doubtnut.com/l/_zNXM7zl1wWQd


Example 3

Watch Video Solution

1. In the given figure,the point O is situated

within the triangle PQR in such a way that,

 and . If

PR= 24 cm and , then find the

∠POQ = 90∘ , OP = 6cm OQ = 8cm

∠QPR = 90∘

https://dl.doubtnut.com/l/_zNXM7zl1wWQd
https://dl.doubtnut.com/l/_BNzDeJMHSglZ


length of QR. 

Watch Video Solution

2. The point O is situated within the

rectangular figure ABCD in such a way that OB

=6 cm, OD =8 cm and OA =5 cm. Determine the

https://dl.doubtnut.com/l/_BNzDeJMHSglZ
https://dl.doubtnut.com/l/_EUsCPuUtMD9n


length of OC 

Watch Video Solution

3. In the triangle ABC,the perpendicular AD,

from the point A on the side BC meets the side

BC at the point D. If BD=8cm , DC =2 cm andAD

= 4 cm, then find the measure of .∠BAC

https://dl.doubtnut.com/l/_EUsCPuUtMD9n
https://dl.doubtnut.com/l/_cRZYPwoiIKEC


Watch Video Solution

4. In a right-angled triangle ABC,

 and

the perpendicular BD on the side AC from the

point B which meets the side AC at the point

D. Determine the length of BD. 

Watch Video Solution

∠ABC = 90∘ , AB = 3cm, BC = 4cm

https://dl.doubtnut.com/l/_cRZYPwoiIKEC
https://dl.doubtnut.com/l/_GAYCKu5Xfois


Long Answer Type Question

1. If the following are the lengths of the three

sides of a triangle, then write the cases where

the triangles are right -angled triangles  

(a) 8cm,15 cm,17 cm (b) 9 cam,11 cm , 6 cm ,

Watch Video Solution

:

https://dl.doubtnut.com/l/_GAYCKu5Xfois
https://dl.doubtnut.com/l/_ajvF5TQSkNjb


2. In the road of Laxmi's locality there is a

ladder of 15m length kept in such a way that it

has touched Pujas's window at a height of 9 m

above the ground. Now keeping the foot of

the ladder at the same point of that road, the

ladder is rotated in such a way that it touched

Laxmi's window situated on the other side of

the road. If Laxmi's window is 12m above the

ground, then determine the breadth of that

road.

Watch Video Solution

https://dl.doubtnut.com/l/_CMUHGkBIWWEu


3. If the length of one diagonal of a rhombus

having the side10 cm length of 12 cm,then

calculate the length of other diagonal.

Watch Video Solution

4. PQR is a triangle whose  is right angle. If

S is any point on QR, then prove that

Watch Video Solution

∠Q

PS2 + QR2 = PR2 + QS2

https://dl.doubtnut.com/l/_SsGf5OBFj6u8
https://dl.doubtnut.com/l/_tcovo1JYCUtK
https://dl.doubtnut.com/l/_foob6EgnoOu8


5. Prove that the sum of squares drawn on the

sides of a rhombus is equal to the sum of

squares drawn on two diagonals.

Watch Video Solution

6. ABC is an equilateral triangle. AD is

perpendicular to BC. Prove that

Watch Video Solution

AB2 + BC 2 + CA2 = 4AD2

https://dl.doubtnut.com/l/_foob6EgnoOu8
https://dl.doubtnut.com/l/_kPBNFt9cO3q4
https://dl.doubtnut.com/l/_nrC3mnaHdg6V


7. ABC is a right-angled triangle of which  =

right angle. P and Q are two points on AB and

AC respectively.By joining P,Q,B,Q and C,P prove

that 

Watch Video Solution

∠A

BQ2 + PC 2 = BC 2 + PQ2

8. If the diagonals of the quadrilateral ABCD

intersect each other orthogonally,then prove

that 

Watch Video Solution

AB2 + CD2 = BC 2 + DA2

https://dl.doubtnut.com/l/_nrC3mnaHdg6V
https://dl.doubtnut.com/l/_H19zf63lIHJJ
https://dl.doubtnut.com/l/_GLSfjNeSYAxX


9. AD is the height of the triangle ABC. If

,then prove that 

.

Watch Video Solution

AB > AC

AB2 − AC 2 = BD2 − CD2

10. Two perpendicular BD and CE are drawn

from the vertices B and C respectively on the

sides AC and AB of the ,which intersect

each other at the point P. Prove that

Watch Video Solution

ΔABC

AC 2 + BP 2 = AB2 + CP 2

https://dl.doubtnut.com/l/_GLSfjNeSYAxX
https://dl.doubtnut.com/l/_kNnmvLoVHnlX


11. ABC is a right-angled isoscels triangles of

which  is a right angle. If D is any point on

AB. Then prove that 

Watch Video Solution

∠C

AD2 + BD2 = 2CD2

12. In  right angle. If CD is a

median, then prove that

.

Watch Video Solution

ΔABC, ∠A =

BC 2 = CD2 + 3AD2

https://dl.doubtnut.com/l/_kNnmvLoVHnlX
https://dl.doubtnut.com/l/_2TnCPDgpdVn8
https://dl.doubtnut.com/l/_wKfhfFbLWu3Z


13. OX,OY and OZ are the perpendiculars

drawn from an internal point O of the 

on its sides  and AB respectively.

Prove that

Watch Video Solution

ΔABC

BC, CA

AZ2 + BX2 + CY 2 = AY 2 + CX2 + BZ2

14. In the  right angle.X and Y are

the midpoints of RS and ST respectively . Prove

ΔRST , ∠S

https://dl.doubtnut.com/l/_wKfhfFbLWu3Z
https://dl.doubtnut.com/l/_UW34N1A0lbOF
https://dl.doubtnut.com/l/_pkg7TD1sZVTB


that .

Watch Video Solution

RY 2 + XT 2 = 5XY 2

15. If in then prove that 

Watch Video Solution

ΔABC, AD ⊥ BC,

AB2 + CD2 = AC 2 + BD2

16. Prove that the area of the square drawn on

the diagonal of a square is twice the area of

the given square.

https://dl.doubtnut.com/l/_pkg7TD1sZVTB
https://dl.doubtnut.com/l/_E0HwFMs8VEft
https://dl.doubtnut.com/l/_sJU3kmasgUNt


Watch Video Solution

17. O is any point inside a rectangle ABCD,

Prove that 

Watch Video Solution

OA2 + OC 2 = OB2 + OD2

18. ABCD is a rhombus.Prove that

Watch Video Solution

AB2 + BC 2 + CD2 + DA2 = AC 2 + BD2

https://dl.doubtnut.com/l/_sJU3kmasgUNt
https://dl.doubtnut.com/l/_uaDtXz7dcfYc
https://dl.doubtnut.com/l/_Vb6hlcYxiTZY
https://dl.doubtnut.com/l/_4w7dHSsypveU


19. In . Prove that

Watch Video Solution

ΔABC, AD ⊥ BC

AB2 − BD2 = AC 2 − CD2

20. In  which intersects BC

at D. If , then prove that 

Watch Video Solution

ΔABC, AD ⊥ BC

BD = 3CD

2AB2 = 2AC 2 + BC 2

https://dl.doubtnut.com/l/_4w7dHSsypveU
https://dl.doubtnut.com/l/_wzjeWLNXbAzH


21. In the isosceles triangle ABC, AB=AC and BE

is perpendicular to AC from B. Prove that

Watch Video Solution

BC 2 = 2AC × CE

22. In an isosceles right-angled triangle ABC,

. The bisector of  intersects

the side BC at the point D. Prove that

Watch Video Solution

∠B = 90∘ ∠BAC

CD2 = 2BD2

https://dl.doubtnut.com/l/_fr8FTzbKV67k
https://dl.doubtnut.com/l/_g3uzyBE5CFMo


23. Prove that the sum of the areas of the

squares drawn on the sides of a rhombus is

equal to the sum of the areas of two squares

drawn on the diagonals of the given square.

Watch Video Solution

24.  is a right-angled isosceles triangle

of which the two sides PQ and QR are equal .

The bisector of  intersects the side QR at

the point S.Prove that .

ΔPQR

∠P

SR2 = 2QS2

https://dl.doubtnut.com/l/_g3uzyBE5CFMo
https://dl.doubtnut.com/l/_eRdgtimRf8Hg
https://dl.doubtnut.com/l/_S8ZSdF6Keq0H


Watch Video Solution

25. P is an external point of the square ABCD. If

,then prove that 

Watch Video Solution

PA > PB

PA2 − PB2 ≅PD2 − PC 2

26. In the right-angled ABC,  right

angle. BE and CF are two medians of  .

Prove that 

∠A = 1

ΔABC

4(BE2 + CF 2) = 5BC 2

https://dl.doubtnut.com/l/_S8ZSdF6Keq0H
https://dl.doubtnut.com/l/_Ee57YN7sskPk
https://dl.doubtnut.com/l/_pw6fG90Pn6ja


Watch Video Solution

27. A perpendicular AD is drawn on BC from

the vertex A of the acute . Prove that 

 

OR 

Prove that the square drawn on the opposite

side of theacute angle of an acute triangle is

equal to the areas of the sum of the squares

drawn on its other two sides being subtracted

by twice the area of the rectangle formed by

ΔABC

AC 2 = AB2 + BC 2 − 2BC. BD

https://dl.doubtnut.com/l/_pw6fG90Pn6ja
https://dl.doubtnut.com/l/_b6JaOOlHDRXx


one of its sides and the projection of the

other side to this side.

Watch Video Solution

28. Prove that if equilateral triangles are

drawn on the sides of a right-angled triangles

then the area of the equilateral triangle,

drawn on the hypotenuse is equal to the sum

of the areas of the other two equilateral

triangals drawn on its other two sides.

Watch Video Solution

https://dl.doubtnut.com/l/_b6JaOOlHDRXx
https://dl.doubtnut.com/l/_nqGDl67FW0s0


29. O is an internal point of the rectangle

PQRS. Prove that 

Watch Video Solution

OQ2 + OS2 = OP 2 + QR2

30. In the right-angled triangle ABC,

.If the length of perpendicular drawn from C

on AB be p and AB=c,BC =a,CA=b , then prove

that .

Watch Video Solution

∠C = 90∘

(a) = + , (b)pc = ab
1

p2

1

a2

1

b2

https://dl.doubtnut.com/l/_nqGDl67FW0s0
https://dl.doubtnut.com/l/_qBARsYoqYdKj
https://dl.doubtnut.com/l/_PpKUJK0m6s9b


31.  is an equilateral triangle . D is a

point on the side BC such that .

Prove that 

Watch Video Solution

ΔABC

BD = BC
1

3

7AB2 = 9AD2

32. Prove that if the difference of the areas of

the squares drawn on any two sides of a

triangle be equal to the area of square drawn

ono its third side, then the triangle is a right-

angled triangle.

https://dl.doubtnut.com/l/_knjZDymhcNBs
https://dl.doubtnut.com/l/_zsr72G3ws8W4


Watch Video Solution

33. In ,AD is a perpendicular drawn

from A to the side BC. If  ,

then prove that the triangle is a right-angled

triangle.

Watch Video Solution

ΔABC

AD2 = BD. CD

34. One of the two acute angles of a righ-

angled triangle is twice the other.Prove that

between the sides adjacent to the right angle,

https://dl.doubtnut.com/l/_zsr72G3ws8W4
https://dl.doubtnut.com/l/_1PEGQgO5lTJV
https://dl.doubtnut.com/l/_s7ejFYWChJT7


the area of the square drawn on the greater

side is thrice the area of the square drawn on

the smaller side.

Watch Video Solution

35. In  is a right angle and AO is

perpendicular to BC. Prove that

.

Watch Video Solution

ΔABC, ∠A

AO2 = BO. CO

https://dl.doubtnut.com/l/_s7ejFYWChJT7
https://dl.doubtnut.com/l/_KsHB8JK5DuVo


36. Prove that in the quadrilateral of which the

two diagonals intersect each other at right

angles, the sum of the squares of any two

sides is equal to the sum squares of the other

two sides.

Watch Video Solution

37.  is an obtus triangle in which =

obtus angle. If AD is perpendicular to BC ( or

ΔABC ∠B

https://dl.doubtnut.com/l/_54RakeuCD2CS
https://dl.doubtnut.com/l/_cVOQBkWGByxR


extended BC ) ,then prove that

 .

Watch Video Solution

AC 2 = AB2 + BC 2 + 2BC × BD

38. In , AD is a median and AM

BC.Prove that 

(a)  (b) 

 (c ) 

Watch Video Solution

ΔABC ⊥

AC 2 = AD2 + BC. DM + ( )
2

BC

2

AB2 = AD2 − BC. DM + ( )
2

BC

2

AC 2 + AB2 = 2AD2 + BC 21

2

https://dl.doubtnut.com/l/_cVOQBkWGByxR
https://dl.doubtnut.com/l/_EzbCEAfruDPg


Example 6

1. A person at first travels 28m east from a

certain place and then he travels m south

of it. The distance of the person from the

starting point will be

A. 

B. 29 m

C. 

D. None of these

√57

(28 + √57)m

(28 − √57)m

https://dl.doubtnut.com/l/_DjBi4SowuMuc


Answer: b

Watch Video Solution

2. In 

and BC = 6 cm. Then the value of  will be

A. 

B. 

C. 

D. 

ΔABC, AB = 6√3cm, AC = 12cm

∠B

120∘

60∘

90∘

45∘

https://dl.doubtnut.com/l/_DjBi4SowuMuc
https://dl.doubtnut.com/l/_3F6ASc5k5Xk5


Answer: C

Watch Video Solution

3. A ladder is situated against a wall in such a

way that its foot is at a distance of 2.5m away

from the wall and its vertex touches a window

which is at a height of 6m from the

ground.Then the length of the ladder will be

A. 6.1m

B. 6.3 m

https://dl.doubtnut.com/l/_3F6ASc5k5Xk5
https://dl.doubtnut.com/l/_fqwYO9jGO9Wi


C. 6.4m

D. 6.5m

Answer: d

Watch Video Solution

4. An aeroplane flows towards the north from

an airport at a speed of 1000km per hour.In

the same time another aeroplane also flows

towards the west at a speed of 1200 km per

hour the same place. Then the distance

https://dl.doubtnut.com/l/_fqwYO9jGO9Wi
https://dl.doubtnut.com/l/_5n4SuI08OlM1


Short Answer Type Questions

between the aeroplanes after  hours will

be

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

1
1

2

30√61km

300√61km

3√61km

300√62km

https://dl.doubtnut.com/l/_5n4SuI08OlM1


1. The length of the sides of an equilateral

 is 2 a units.Find the height of the

triangle.

Watch Video Solution

ΔABC

2. Two pillars of lengths 6m and 11m stands up

vertically with the ground. If the distance

between their foots be 12m,then find the

distance between their vertices.

Watch Video Solution

https://dl.doubtnut.com/l/_kUgNdhbbG2cH
https://dl.doubtnut.com/l/_OQ0Mr48NmDZH


3. A ladder of length 10m just touches a

window 8 m high from the ground on a wall.

Find the distance between the foot of the

ladder from the wall.

Watch Video Solution

4. O is an internal point of the rectangle ABCD

such that OB = 6 cm,OD =8 cm and OA

 . Then find the length of OC.= √19cm

https://dl.doubtnut.com/l/_OQ0Mr48NmDZH
https://dl.doubtnut.com/l/_yiYlgi0NkgQc
https://dl.doubtnut.com/l/_opJJZvv6RN09


Watch Video Solution

5. In the right-angled triangle ABC, = right

angle. If AB

 cm, then

find the value of AC.

Watch Video Solution

∠A

= (3x − √2)cm, BC = √9x2 + 2

6. If the ratio of three sides of a triangle be

, then the triangle is always a

right-angled triangle.

√2: √3: √5

https://dl.doubtnut.com/l/_opJJZvv6RN09
https://dl.doubtnut.com/l/_lK2CsZtWUzEL
https://dl.doubtnut.com/l/_32eHF2V5iRSz


Watch Video Solution

7. The quantities 5a, 12a and 13a are all

Pythagorian quantities.

Watch Video Solution

8. If the area of the square drawn on any side

of a triangle is equal to the sum of the areas

of the squares drawn on the other two sides

of the triangle ,then the triangle will be right-

https://dl.doubtnut.com/l/_32eHF2V5iRSz
https://dl.doubtnut.com/l/_OEoAmoGkGH3M
https://dl.doubtnut.com/l/_f1XxBhg5Fda7


angled triangle, the opposite angle of the

greatest side of which will be .

Watch Video Solution

......................

9. The number 5,12  are

Pythagorian numbers.

Watch Video Solution

…..................

10. If D be the mid-point of the side BC of

 then ΔABC, AB2 + AC 2 = 2BD2 +

https://dl.doubtnut.com/l/_f1XxBhg5Fda7
https://dl.doubtnut.com/l/_g49w2K8fhO43
https://dl.doubtnut.com/l/_qlFKTWkTDAeK


"….................."`.

Watch Video Solution

11. If the length of one of the diagonals of a

rhombus with sides 13cm be 10cm, then find

the length of its other diagonal.

Watch Video Solution

12. The lengths of three sides of a triangle are

5cm, 12cm and 13 cm. Then find the length of

https://dl.doubtnut.com/l/_qlFKTWkTDAeK
https://dl.doubtnut.com/l/_IcQh397FnoIF
https://dl.doubtnut.com/l/_QU1euBcXLAoN


the perpendicular drawn from the opposite

vertex of the side of length 13 cm to that side.

Watch Video Solution

13. If the distance between the foots of two

pillar of lengths 35 m and 50m be 20m, then

find the distance between their vertices.

Watch Video Solution

https://dl.doubtnut.com/l/_QU1euBcXLAoN
https://dl.doubtnut.com/l/_seaame8oyh3N


14. If the lengths of the diagonals of a

rhombus be 18cm and 24 cm. Then find the

length of its sides.

Watch Video Solution

https://dl.doubtnut.com/l/_ImsbIsROFBmq

